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1. 7 +2—[830f7 +4 +{(2 +5)x (25 +8) = (5 =+ 2)}] & wr+ fcr 82
(A) -8(B) -7(C) -1(D) -9
Ans. B
2.36 +8x44+2 +4—14+50f3 + (4 X2—3)— 3% 74 foaw 8?2
(A) >(B) 16(C) 2(D) 18
Ans. A
3. IRA=7 x3 +(2+4)+4-2B=3 +6 x4+2—-20f3anC=6+ 2+4Xx3—
2 21@d (A+B-C) & a9 faaem 87
16 —-16 19 —-19
(A) 5(B) =—(C) (D) =~
Ans. D

30f 24 +8 X3+4 +2—4 X5
4, 31 T |19 fdba-T 87
36 +~12X4+2+5 X(6—4)

(A) =(B) —(C) =(D) =
Ans. B

27
: jofl“l ®1 A4 o &7
*(3-2)+5+(3+3)
13 10 25 31
(A)—(B)5(C) (D) 5
Ans. B

39 +26+22 +11 X24+4 X3
6. T 719 fhar 87
20f 5-3(7+10+2-3x%3)

(A) 2(B) 2(C) 2(D) 2

Ans. D

7.(24+16 x5—-80f 4) +84 xX48 +24 X 6+ 4 + 3 &1 A fha 22
139 156 121 56

(A) =*(B) =*(C) =~(D) =

Ans. C

8. 3xX40f12 +2)+9 X4+4 +8+3 X2 A &l &7
89 37 94 77

(A) 5(B)5(C) (D)5

Ans. D

0. 4 A=8 +4 x(3—1)+ 6 X3 ~20f3aNB=4 +8 Xx2+7 X3
g, a1 A+ B &1 5m fdar 82
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(A) 29(B) 31(C) 33(D) 35
Ans. A

10. (x5 + xH) 3 = x2 =7

(A) x%(B) x3(C) x~1(D) x

Ans. D

11. The value of x in the given equation
232 +4/x = 625

(A) 9576(B) 9124(C) 9216(D) 9028

Ans. C

12. (254 15— 2) x 16 + 4@ A &

134

(A) 42(B) 41 —(C) —(D) 63

Ans. C

13.7X70f 3 +3—14 Xx =7, d x & 94 foban &?

(A) 1(B) 2(C) 3(D) 4

Ans. C

14. af (28 +4 X7)+ (44 +4 x7)— (12 Xx) = 18 & 1 X 1 7 &

(A) 3(B) 12(C) 9(D) 6

Ans. C

15. 2X2+4X4+2x0f3X6-7X(5+4=2) % a9 &

(A) 5(B) 7(C) 4(D) 6

Ans. B

16. (0.40f 50 X6 +8)+ (12 X 10 +16)+ 5 X 0.2 — 0.01 X 102 %1 7 faer 27

(A) 1(B) 4(C) 2(D) 3

Ans. C

17. 20f14+7 x3)+ (44 +11 x8) — (12 X9 =+ 3) &1 A fa- 8?2

(A) 9(B) 6(C) 8(D) 7

Ans. C

g DS
Taot(1-5)or I

() 175B) 715(©) 1750) 115

Ans. A

19. 3+30f3+2 +4+(4 xX2—-2)+12+ 4 &1 9 fam 872
12 16 14 17

(A)=(B)5(C) (D)~

Ans. B

20. 27 X6 +24+6 +20f3+30 +24 Xx18—9 +540f 3 X 216 F1 44 &

(A) - 77.75(B) 18.25(C) - 69.75(D) 26.25

&1 A foha=r 27




Ans. B
1 2 1 5 3 7 1 3 _
21.;OflET{SE—E-l-EXlg?lgOfE)}EmW%\r-
32 27 6
A 2@ Zc) o) =

135
Ans. A
22. 4 X2 +40f (44+4 +40f4)— (4 ~40of 2 X4) T 94 fhadr 82
(A) -1(B) 65(C) — (D) 4~
Ans. C
23. What is the value of :
26 -[(20f6 +3)—93 — {17 — (14 — 2)}]
(A) 100(B) 120(C) 110(D) 90
Ans. B
24, fau 1y R (5)2 + (6)% + (30)2 = ()2 # x &1 79 &
(A) 53(B) 37(C) 41(D) 31

27
160

Ans. D

25. 56+ (4)>— 3 X (3)? &1 AF &
(A) 93(B) 79(C) 76(D) 83

Ans. A

26. f3 il i _gmame
16 2 4

(A) 13(B) 1(C) 1(D) 1~

Ans. C

27. (4488 +11.01 — 7.98) + 15.99 & srwifyd & &

(A) 2.5(B) 26(C) 25(D) 2.6

Ans. C

28. 7-+140f2—7 X7 +49 + %of(14 747+ 7—14 = 2% 54 &
1 1 1

(A)3(B)2-(C)—1(D) 4 ;

Ans. B

29. =1 @1 719 fohae @

6:+(5;+20f ;)-8 x>+20f127
(A) (B)3(C) = 3(D) ~ 7
Ans. D



